Quiz 2 Calculus 3 10/5/2012

Each problem is worth 5 points. Clear and complete justification is required for full credit.

1. Evaluate lim —2i—2—
(x2)~(0.0) x“ + y
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2. Find an equation for the plan tangent to z = 5—2 at the point (3,-2,1/15).
‘ +xy :
ry L
B g e = F+ =y )
v -~
Zx ::—_L(S—rx(k/q—)/(:ﬁ*xt/) !
2 2 = e .
e o -1 ) Baxy? - M
(3 -+ y(ujl)
” L
2y oL Craey?) T 3 kg™ ’
— 2 XL
g ) 2 o Satasl /“L‘: 2
= -1 C2ry _ iy - (34xy 2
= -
2x (8 -2) o (=23 _ — 4 ,25( 3;20 (2
(3~ 3.~ 225 225

o squaton T Ghe plone  dongeat  fo 2

o ﬂﬂJ/‘”N'

= = &y o4 I
= 215 (%~ %) e (4 +2)

"




3. Find and classify all critical points of ¥(x,y) =xp(24 —x-y). - 7 9x y - %< g -y o
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4. Find and classify all critical points of f{x, y) = ()7 —x°).
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